Illﬂ[/l)'eﬂ[/llm

2015-16 FORD F350 DRW REAR
SWAY BAR CLEARANCE KIT <

This kit is for vehicles where the rear sway bar interferes with
the carriage bolts and/or the axle straps provided in the
HP10247 kit.

3/8"-16x9"
Carriage Bolt

STEP 1 Discard the two 3/8"-16 x 10" carriage bolts
and two axle straps provided in the HP10247
kit. Replace them with the items provided in
this HP10312 kit.

STEP 2 Insert two 3/8 -16 x 9" carriage bolts through
the slots in the lower bracket. Refer to figure
2A and 2B.

STEP 3 Place the axle strap under the axle as shown
in Figure 2B. Secure the axle strap by using
two 3/8" nyloc nuts and two 3/8 flat washers
provided in the HP10247 kit.

|
NOTE: Position the carriage bolts and axle |
straps such that they are not chafing against
brake lines or other components before
proceeding onto the next step.

I Axle Strap
STEP 4 Torque both nyloc nuts to 15 ft-Ibs [20 Nem]. !
STEP 5 Proceed with the installation of the lower E :
bracket as outlined in Step 5 of the E

HP10247 manual.

Axle Strap (X1)J
= 3/8" Flat Washer (x2)
4 ——<]
?/‘\ g e
j > 3/8" Nyloc Nut (x2) &
-\ ad ‘ )% 2B |

HP10312 SWAY BAR CLEARANCE KIT HP10247 ADDENDUM

L6445_REV1.26.05.2017



